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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 35(11+12+12) gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 35(11+12+12) questions. 

 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

SET : B 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) ;g iz'u&i= rhu rhu rhu rhu Hkkxksa esa foHkkftr gS % 

  HkkxHkkxHkkxHkkx    –    v %v %v %v %    vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsA 

  HkkxHkkxHkkxHkkx    –    c %c %c %c %    dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kA 

        HkkxHkkxHkkxHkkx    –    llll    %%%%    dEI;wVjhÑr ys[kkaduA 

 (ii) Hkkx Hkkx Hkkx Hkkx – v vfuok;Z v vfuok;Z v vfuok;Z v vfuok;Z gSA ijh{kkFkhZ viuh bPNk ls Hkkx Hkkx Hkkx Hkkx – c c c c rFkk Hkkx Hkkx Hkkx Hkkx – llll esa ls dksbZ ,d,d,d,d Hkkx gy 
djsaA 

 (iii) lHkh lHkh lHkh lHkh iz'u gy djus gSaA izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iv) cgqfodYih; ç'u 1 ls 6 rd ds lghlghlghlgh fodYi pqfu, rFkk ç'u 12 ls 17 rd ds mÙkj ,d,d,d,d ;k 
nksnksnksnks 'kCnksa ;k;k;k;k okD;ksa esa ;k;k;k;k fjDr LFkkuksa dks Hkjdj nhft,A 'ks"k ç'uksa ds mÙkj muds vadksa ds vuqlkj 
nhft,A 

 (v) iz'u la[;k 11 rFkk 23 esa vkUrfjd NwV miyC/k gSA 
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General Instructions : 

 (i) This question paper is divided into three Parts :  

  Part – A : Not-for-Profit Organizations & Partnership Accounts. 

  Part – B : Company Accounts & Analysis of Financial Statements. 

  Part – C : Computerized Accounting. 

 (ii) Part – A is compulsory. Candidates have to attempt any one part from 

Part – B and Part – C of their choice.  

 (iii) All questions are to be attempted. Marks of each question are indicated 

against it.  

 (iv) Choose the correct options of the multiple choice type questions 1 to 6 and 

answer of questions 12 to 17 may be given in one or two words or 

sentences or by filling up the blanks. Answer the remaining questions 

according to their marks. 

 (v) Internal choice is available in Question Nos. 11 and 23. 

        Hkkx Hkkx Hkkx Hkkx –    vvvv    

     PART – A [ M. M. : 30 

¼¼¼¼vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrs½½½½    

(Not-for-Profit Organizations & Partnership Accounts) 

  1. ^ykHk izkfIr vuqikr* ls vk'k; gS % 1 

 (A) iqjkuk vuqikr − u;k vuqikr  

 (B) u;k vuqikr − iqjkuk vuqikr 

 (C) iqjkuk vuqikr − R;kx vuqikr 

 (D) u;k vuqikr − R;kx vuqikr 
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 Gaining Ratio means : 

 (A) Old Ratio − New Ratio 

 (B) New Ratio − Old Ratio 

 (C) Old Ratio − Sacrificing Ratio 

 (D) New Ratio − Sacrificing Ratio 

  2. ^,*] ^ch* o ^lh* lk>snkj gSa tks 5 : 2 : 1 esa ykHk ck¡Vrs gSaA ;fn ^,* ds vodk'k xzg.k ij u;k vuqikr 

3 : 2 gks] rks ykHk izkfIr vuqikr gksxk % 1 

 (A) 11 : 14 

 (B) 3 : 2 

 (C) 2 : 3 

 (D) 14 : 11 

 'A', 'B' and 'C' are partners sharing profits in 5 : 2 : 1. If the new ratio on the 

retirement of 'A' is 3 : 2, what will be the gaining ratio ?  

 (A) 11 : 14 

 (B) 3 : 2 

 (C) 2 : 3 

 (D) 14 : 11 
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  3. lekiu dh n'kk esa tc dksbZ lk>snkj dksbZ lEifÙk ysrk gS] rks …………. MsfcV fd;k tkrk gSA 1 

 (A) olwyh [kkrs dks 

 (B) lk>snkj ds iw¡th [kkrs dks 

 (C) jksdM+ [kkrs dks 

 (D) lEifÙk [kkrs dks 

 On dissolution, when a partner takes over an asset ………. is debited.  

 (A) Realization Account 

 (B) Partner's Capital Account 

 (C) Cash Account 

 (D) Asset Account 

  4. lekiu dh n'kk esa] lk>snkj dk _.k gLrkarfjr fd;k tkrk gS % 1 

 (A) lk>snkjksa ds iw¡th [kkrs esa  

 (B) olwyh [kkrs esa 

 (C) iquewZY;kadu [kkrs esa  

 (D) lk>snkj ds _.k [kkrs esa  

 On dissolution, partner's loan is transferred to :  

 (A) Partners' Capital Account 

 (B) Realization Account 

 (C) Revaluation Account 

 (D) Partner's Loan Account 
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  5. ;fn u;s lk>snkj ds izos'k ds le; dksbZ vfyf[kr nkf;Ro gS] rks bls % 1 

 (A) iquewZY;kadu [kkrs esa MsfcV fd;k tk,xk 

 (B) iquewZY;kadu [kkrs esa ØsfMV fd;k tk,xk 

 (C) [;kfr [kkrs esa MsfcV fd;k tk,xk  

 (D) lk>snkjksa ds iw¡th [kkrs esa ØsfMV fd;k tk,xk 

 If at the time of admission of new partner there is some unrecorded liability, it 

will be : 

 (A) Debited to Revaluation Account 

 (B) Credited to Revaluation Account 

 (C) Debited to Goodwill Account 

 (D) Credited to Partners' Capital Account 

  6. iquewZY;kadu [kkrk vFkok ykHk&gkfu lek;kstu [kkrk gS %  1 

 (A) okLrfod [kkrk 

 (B) O;fDrxr [kkrk 

 (C) ukeek= [kkrk 

 (D) lEifÙk [kkrk 

 Revaluation Account or Profit and Loss Adjustment Account is a : 

 (A) Real Account 

 (B) Personal Account  

 (C) Nominal Account 

 (D) Asset Account  
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  7. ^LFkk;h iw¡th* ,oa ^vLFkk;h iw¡th* [kkrksa esa vUrHksZn dhft,A 2 

 Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.  

  8. fuEufyf[kr lwpukvksa dks Dyc ds 31-3-2022 ds fpV~Bs esa vki fdl izdkj n'kkZ;saxs \ 4 

             ` 

 (i) [ksy dks"k 1-4-2021 dks % 5,00,000 

 (ii) 1-4-2021 dks 10% [ksy dks"k fofu;ksx % 5,00,000 

 (iii) [ksy dks"k fofu;ksx ij izkIr C;kt %   37,500 

 (iv) [ksy dks"k ds fy, nku % 1,20,000 

 (v) [ksy bZuke % 1,00,000 

 (vi) [ksy izfr;ksfxrk ij O;; %   15,000 

 Show how will you deal with the following items while preparing the Balance 

Sheet of a club as at 31-3-2022 ? 

                                   ` 

 (i) Sports Fund on 1-4-2021  : 5,00,000 

 (ii) 10% Sports Fund Investment on 1-4-2021 : 5,00,000 

 (iii) Interest received on Sports Fund Investment  :   37,500 

 (iv) Donation for Sports Fund : 1,20,000 

 (v) Sports Prizes awarded : 1,00,000 

 (vi) Expenses on sports events  :   15,000 
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  9. lk>snkj ^,y*, ^,e* vkSj ^,u* 31-3-2022 dks lekIr gksus okys rhu o"kksZa dk iw¡th ij C;kt yxkuk 

Hkwy x,A mudh LFkk;h iw¡th rhu o"kksZa esa ^,y* 40,000 `] ^,e*-25,000 `, ^,u*-15,000 ` FkhA iw¡th 

ij C;kt dh nj 12% okf"kZd gSA muds ykHk ck¡Vus ds vuqikr 2020 − 5 : 2 : 1, 2021 − 3 : 2 : 1, 

2022 − 2 : 1 : 1 gSaA vko';d lek;kstu izfof"V nhft,A 4 

 'L', 'M' and 'N' partners have omitted interest on capitals for three years ended 

on 31-3-2022. Their fixed capitals in three years were 'L' ` 40,000, 'M' ` 25,000, 

'N' ` 15,000. Rate of interest on capital is 12% p.a. Their profit sharing ratios 

were 2020 − 5 : 2 : 1, 2021 − 3 : 2 : 1, 2022 − 2 : 1 : 1. Give the necessary 

Adjusting Entry.  

10. ^,* vkSj ^ch* leku lk>snkj gSaA ^lh* dks lk>snkjh esa 'kkfey fd;k x;kA ^lh* dsoy 50,000 ` izhfe;e 

ykrk gS] vius 90,000 ` [;kfr ds fgLls esa ls] 1/4 Hkkx ds fy,A 3,00,000 ` dh [;kfr igys ls 

gh iqLrdksa esa fn[kkbZ xbZ gSA QeZ dh iqLrdksa esa vko';d tuZy izfof"V;k¡ djsaA 4 

 'A' and 'B' are partners sharing profits equally. They admit 'C' into partnership. 'C' 

paying only ` 50,000 for premium out of his share of goodwill of ` 90,000 for 

1/4th share of profit. Goodwill Account appears in the books at ` 3,00,000. Give 

the necessary Journal Entries.  
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11. ^,*] ^ch* vkSj ^lh* lk>snkj gSa tks ykHk-gkfu dks 5 : 3 : 2 ds vuqikr esa ck¡Vrs gSaA 1-4-2020 dks 

mudk fpV~Bk fuEufyf[kr Fkk % 

nkf;Ronkf;Ronkf;Ronkf;Ro    `̀̀̀ lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡lEifÙk;k¡    `̀̀̀ 

ysunkj 

deZpkjh Hkfo"; fuf/k  

lafpr dks"k 

deZpkjh {kfriwfrZ fuf/k dks"k 

iw¡th % 'A'     50,000 

iw¡th % 'B'    35,000 

iw¡th % 'C'    25,000 

10,000 

5,000 

6,000 

2,000 

 

 

1,10,000 

jksdM+ 

nsunkj 

LVkWd 

QuhZpj 

isVsaV~l 

fcfYMax ¼Hkou½ 

[;kfr  

2,000 

8,000 

40,000 

13,000 

4,000 

60,000 

6,000 

 1,33,000  1,33,000 

 ^lh* vodk'k xzg.k djrk gS vkSj lk>snkjksa esa lgefr gqbZ fd % 

 (i) [;kfr dk ewY;kadu xr pkj o"kksZa ds vkSlr ykHk ds vk/kkj ij nks o"kZ ds Ø; ewY; ds cjkcj fd;k 
tk;sxkA 31 ekpZ dks lekIr o"kksZa ds ykHk bl izdkj Fks % 2017 : 14,400 `; 2018 : 20,000 `; 
2019 : 10,000 ` ¼gkfu½( 2020 : 15,600 `A  

 (ii) lafnX/k _.kksa ds fy, vk;kstu nsunkjksa ij 5% djuk gSA 

 (iii) jgfr;k 10% c<+kdj fn[kk;k tk;sxkA 

 (iv) isVsUV ewY; jfgr gSaA 

 (v) Hkou dk ewY; 20% ls c<+dj fn[kk;k tk;sxkA 

 (vi) ysunkjksa dks iqLrd ewY; ls 2,000 ` vf/kd Hkqxrku djus iM+saxsA 

 iquewZY;kadu [kkrk] iw¡th [kkrs rFkk ubZ QeZ dk fpV~Bk cukb,A 10 
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 'A', 'B' and 'C' were partners sharing Profit & Losses in the ratio of 5 : 3 : 2. Their 

Balance Sheet as at 1-4-2020 was as under :  

Liabilities `̀̀̀ Assets `̀̀̀ 

Creditors 

Employees Provident Fund 

Reserve Fund  

Workmen's Compensation Fund 

Capitals 'A' 50,000 

Capitals 'B' 35,000 

Capitals 'C' 25,000 

10,000 

5,000 

6,000 

2,000 

 

 

1,10,000 

Cash 

Debtors 

Stock 

Furniture 

Patents 

Buildings 

Goodwill  

2,000 

8,000 

40,000 

13,000 

4,000 

60,000 

6,000 

 1,33,000  1,33,000 

 'C' retires and partners agreed that :  

 (i) Goodwill is to be valued at two years purchase of the average profits of last 

four years. Profits for the years ending 31st March were : 2017 : ` 14,400; 

2018 : ` 20,000; 2019 : ` 10,000 (Loss); 2020 : ` 15,600.  

 (ii) 5% provision for doubtful debts to be made on debtors.  

 (iii) Stock be appreciated by 10%. 

 (iv) Patents are valueless.    

 (v) Buildings be appreciated by 20%. 

 (vi) Creditors to be paid ` 2,000 more than the book value. 

 Prepare Revaluation Account, Capital Accounts and the Balance Sheet of the 

new firm.  
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vFkokvFkokvFkokvFkok    
OR 

    [;kfr dks ifjHkkf"kr dhft,A blds ewY;kadu dh vko';drk D;ksa gS \ u, lk>snkj ds izos'k ds le; 
bldk fdl izdkj ys[kkadu fd;k tkrk gS \ 

 What is Goodwill ? What is the need of its valuation ? What is its accounting 

treatment at the time of admission of a new partner ?  

        Hkkx Hkkx Hkkx Hkkx –    cccc    
     PART – B [ M. M. : 30 

¼¼¼¼dEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.kdEiuh [kkrs rFkk foÙkh; fooj.kksa dk fo'ys"k.k½½½½    
(Company Accounts & Analysis of Financial Statements) 

12. ^vfr-vfHknku* rFkk ^vYi-vfHknku* esa dksbZ ,d,d,d,d vUrHksZn dhft,A  1 

 Distinguish between 'Over-subscription' and 'Under-subscription'. (Any one)  

13. dEiuh vf/kfu;e] 2013 dh vuqlwph I rkfydk F ds vuqlkj] vfxze ;kpuk ij fdl nj ls C;kt fn;k 

tk ldrk gS \ 1 

 At what rate interest on calls-in-advance may be paid by a company according 

to Table F of Schedule I of the Companies Act, 2013 ?  

14. lgk;d izfrHkwfr ds :i esa _.ki=ksa ds fuxZeu ds fy, D;k izfof"V cukbZ tk ldrh gS \ 1 

 What entry may be passed when debentures are issued as Collateral Security ?  

15. dwiu nj D;k gksrh gS \ 1 

 What is Coupon Rate ? 
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16. ,d dEiuh ds fLFkfr fooj.k ds lEifÙk i{k esa izeq[k 'kh"kZdksa dh la[;k fdruh gS \ 1 

 What is the number of major heads of the Assets side of a Company's Balance 

Sheet ? 

17. foÙkh; fo'ys"k.k dh dksbZ ,d,d,d,d lhek crkb,A 1 

 Give one limitation of Financial Analysis.  

18. ^va'k/kkfj;ksa* vkSj ^_.ki=/kkfj;ksa* esa dksbZ nksnksnksnks vUrj nhft,A 2 

 Give any two points of distinction between 'shareholders' and 'debenture 

holders'.  

19. fuEufyf[kr enksa dks dEiuh ds fLFkfr fooj.k ds fdu 'kh"kZdksa ds vUrxZr fy[kk tkrk gS \ 2 

 (i) [;kfr  

 (ii) NksVs vkStkj  

 Under what headings will you show the following items in the Balance Sheet of 

the Company ? 

 (i) Goodwill  

 (ii) Loose tools  

20. fuEufyf[kr lwpukvksa ls rqyukRed fooj.k cukb, %  2 

      31-3-2022 31-3-2021 

 lapkyu ls vk;   ` 30,00,000 ` 20,00,000 

 vU; vk; ¼lapkyu ls vk; dk % O;;½   15% 20% 

 O;; ¼lapkyu ls vk; dk %½   60% 50% 
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 Prepare a comparative statement of Profit & Loss from the following details : 

      31-3-2022 31-3-2021 

 Revenue from operations   ` 30,00,000 ` 20,00,000 

 Other Income (% of Revenue    

 from Operations)  15% 20% 

 Expenses (% of Revenue    

 from Operations)  60% 50% 

21. izkjafHkd jgfr;k 60,000 `( vfUre jgfr;k 1,00,000 `; LVkWd vkorZ vuqikr 8 xquk( foØ; ewY; 
25% ykxr ls vf/kdA ldy ykHk vuqikr Kkr dhft,A 4 

 Opening Inventory ` 60,000; Closing Inventory ` 1,00,000; Inventory Turnover 

Ratio 8 times; Selling Price 25% above cost. Calculate Gross Profit Ratio.   

22. fuEufyf[kr fooj.kksa ls fuos'k xfrfof/k;ksa ls udnh izokg dh x.kuk djsa % 4 

  fooj.k    31-3-2021 31-3-2022 

  xSj-pkyw fofu;ksx  8,00,000 ` 10,00,000 ` 

  LFkk;h lEifÙk;k¡  15,00,000 ` 18,20,000 ` 

 (i) o"kZ ds izkjaHk ds xSj-pkyw fofu;ksx dk vk/kk fgLlk 15% ykHk ij cspk x;kA 

 (ii) LFkk;h lEifÙk;ksa ij o"kZ dk 1,60,000 Ðkl yxk;k x;kA 

 (iii) xSj-pkyw fofu;ksx ij 50,000 ` C;kt izkIr gqvkA 

 (iv) xSj-pkyw fofu;ksx ij 20,000 ` ykHkka'k izkIr gqvkA 

 (v) fdjk;k izkIr gqvk 25,000 `A 
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 From the informations given, calculate Cash Flow from Investing Activities of 'A' Ltd : 

 Particulars  31-3-2021 31-3-2022 

  Non-current investment  ` 8,00,000  ` 10,00,000  

  Fixed Assets  ` 15,00,000 ` 18,20,000  

 (i) Half of non-current investment held in the beginning of the years was sold 

at 15% profit.  

 (ii) Depreciation on Fixed Assets was ` 1,60,000 for the year.  

 (iii) Interest received on non-current investments ` 50,000. 

 (iv) Dividend received on non-current investment ` 20,000. 

 (v) Rent received ` 25,000. 

23. fuEufyf[kr ij laf{kIr uksV fyf[k, % 
 Write short notes on the following : 

 (a) vkjf{kr iw¡th ,oa iw¡th lap;   5 

  Reserve Capital and Capital Reserve 
 (b) vYi-vfHknku ,oa vfr-vfHknku   5 

  Under-subscription and Over-subscription  

vFkokvFkokvFkokvFkok    
OR 

 1-4-2021 dks ,d dEiuh ds 60,000 ` ds 5% _.ki= vnÙk gSaA bl frfFk dks _.ki= 'kks/ku dks"k 
50,000 ` dk gS] tks fd Hkkjr ljdkj ds 59,000 ` ds 3% _.k esa fofu;ksftr gSA _.ki= 'kks/ku 
dks"k esa okf"kZd fdLr 8,230 ` dh tksM+h tkrh gSA 31-3-2022 dks cSad ckdh ¼C;kt izkIr djus ds 
ckn½ 15,640 ` gSA bl frfFk dks fofu;ksxksa dks 83% ij cspk x;k vkSj _.ki=ksa dk Hkqxrku dj fn;k 
x;kA  

 2021-22 ds cgh [kkrs rS;kj dhft,A  10 
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 A company has ` 60,000, 5% debentures outstanding on 1-4-2021. On that date 

the Debenture Redemption Fund stood at ` 50,000 represented by ` 59,000, 3% 

Loan of the Government of India. The annual instalment added to Debenture 

Redemption Fund is ` 8,230. On 31-3-2022 the balance at bank (after interest 

on investment) was ` 15,640. On that date investment were sold at 83% net and 

debentures were paid off.  

 Prepare Ledger Accounts for the year 2021-22.      

        Hkkx Hkkx Hkkx Hkkx –    llll    
     PART – C [ M. M. : 30 

¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½¼dEI;wVjhÑr ys[kkadu½    

(Computerized Accounting) 

12. …………… dk izfrfuf/kRo djus ds fy, LizsM'khV esa v{kjksa dk mi;ksx fd;k tkrk gSA 1 

 In a Spreadsheet, letters are used to represent ………….. . 

13. …………… iSVuZ ns[kus esa lgk;rk djrk gSA 1 

 …………… help us to see patterns.  

14. dEI;wVj LizsM'khV midj.k esa lw= cukus ds fy, …………… iz;ksx fd;k tkrk gSA 1 

 In a computer spreadsheet, tool used to construct formulas is called …………… . 

15. vk/kkj gesa MsVkcsl ds lkFk dke 'kq: djus ds fy, …………… fodYi nsrk gSA 1 

 Base gives us …………… options to start working with database.  

16. …………… ,e,l-,Dlsl dk ,d ?kVd gSA 1 

 …………… is one of the component of MS-Access.  
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17. ,d MsVkcsl ds ekSfyd fuekZ.k [k.M gSa ………………A 1 

 The fundamental building blocks of a database are……………… .  

18. dEI;wVjhÑr ys[kkadu iz.kkyh ds nksnksnksnks ykHk crkb,A 2 

 Give two advantages of a Computerized Accounting System. 

19. dEI;wVjhÑr ys[kkadu iz.kkyh ds nksnksnksnks  izdkjksa dh O;k[;k dhft,A 2 

 State two types of Computerized Accounting System.  

20. gLrfyf[kr ys[kkadu o dEI;wVjhÑr ys[kkadu esa dksbZ nksnksnksnks vUrj Li"V dhft,A 2 

 Give two differences between Manual Accounting and Computerized Accounting. 

21. rkfydk D;k gS \ bls cukus ds rjhdksa dk o.kZu dhft,A 4 

 What is Table ? Discuss the methods to prepare table.  

22. dEI;wVjhÑr ys[kkadu esa ykHk-gkfu [kkrk dSls rS;kj fd;k tkrk gS \ 4 

 How to prepare Profit and Loss Account in Computerized Accounting ? 

23. LizsM'khV D;k gS \ LçsM'khV ls fxzM dSls vyx gS \ 10 
 What is Spreadsheet ? How is Grid different from Spreadsheet ? 

vFkokvFkokvFkokvFkok    

OR 

 fMtkbu O;w fof/k ls ,e ,l-,Dlsl esa iwNrkN djus ds fofHkUu pj.kksa dk o.kZu dhft,A 

 Describe various steps in the design view method to create a Query to MS-Access.  
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